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Note: (1) Question 1 is compulsory st
(2) Solve any three questions 0 oi‘ remalinng
(3) Assume suitable data whbrever neagssary
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Q.1 Solve any four ., B | hd 2 [20}
(a) Explain prmc@le d1ffcre<nbes betwcen connectwm” less andg connection’ ‘
oriented comnumcathn K O .
(b) What is h’;?innel allocation prob‘}ém? o ‘ o
(¢) Findt egcrror, if ;a@, in the following I A addresses
i) 22;13 4.7.8. 2@» (i) 7343.351.14-7y
) D;ﬁerentlate Ybétween T ‘and UDF;v

() {‘Wnte short\ncte on S~<</ / :;;w X s y ’ e
Q.2 (a)," Desc be OSI refeﬁei’lce mod,et‘%vlth a neaf 'agran_x’_._f"_x o)
\\‘Sﬁi Explam dlfferent“fratmng xg¢ﬂlods . ed ey
Q: § (a) Ex”plam dlflﬁtrent typeg"p‘f guided. ﬁansxmssmp“medla in: ’éi’etall kel o]
“,_,(«J;‘% " (b)g”” ,Explam shﬁmg wmdb“\;v protochﬁsmg schétlve repea}f techmun - [10]
A A o &

< 3 Q4 Q’h) Expléin Link Stﬂ&e Rouhng%ﬁ1th smta;bftrexample [10]

| »i;-::’:' A o (b) Whlaf is necdof DNS and cxplam how DNS wotks? ' : [10]

,ﬁ?{ ’ ‘ ‘/‘;\.\;,QJS (a)£ Explam ¥v4 heade;r férmat in détaxl | 3 [10]

L7 Y @ Explau{ e Way Handshal@é Techmqné in TCP [10]
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@ ) Q\ "(a) Explain le cket al thm an &mpare 1t«fW1th token“kmcket algorithm.  [10]

R ) (b) gyme sho@btes on: g iTCP Tlra%rs (ii) HT’ﬁ’ [10]
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